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1. – 2. sorularda, cümlede boş bırakılan yer-
lere uygun düşen sözcük ya da ifadeyi bulu-
nuz. 

1. When someone chokes on food, it is because the 
food has slipped into the air passage and ---- 
breathing. 

A) given in  B) kept on 

C) set out  D) switched off 

 E) cut off 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2. When the new hospital ---- in summer, you ---- one 
of the first patients to be admitted. 

A) opens / will be 

B) will open / will be 

C) has opened / can have been 

D) is opening / are 

E) opened / have been 

 

 

 

 

 

3. – 7. sorularda, aşağıdaki parçada numa-
ralanmış yerlere uygun düşen sözcük ya da 
ifadeyi bulunuz. 

Older people suffer more broken bones than younger 
people because the mass and strength of bones 
decrease with age. There is no single reason why 
this occurs, or why some individuals and populations 
are more (3)---- than others. Like other complex 
traits, age-related changes in bones result (4)---- 
interactions between environmental and genetic 
factors. Scientists have linked changes in bone 
strength to (5)---- in physical activity, the levels of 
dietary calcium and vitamin D, and alcohol and 
tobacco use. However, among (6)----, physical 
activity is the variable (7)---- likely to account for the 
geographic heterogeneity in the incidence of 
fractures. 

 

 

3.  

A) considerate  B) equal 

C) sensible  D) negligible 

 E) vulnerable 

 

4.  

A) to  B) of  C) from 

 D) over  E) at 

 

5.  

A) circulations B) settlements C) variations 

 D) tendencies E) similarities 

 

6.  

A) these  B) that  C) which 

 D) whom E) this 

 

7.  

A) how  B) as  C) such 

 D) so  E) most 
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8. soruda, verilen cümleyi uygun şekilde 
tamamlayan ifadeyi bulunuz. 

8. ---- that moderate exercise helps employees 
produce more work for less effort. 

A) The study shows quite convincingly 

B) The computers of the future are being designed 

C) Facial expressions do not always show 

D) Performance at work can be improved 

E) Routine office-work is obviously boring 

 

 

 

 

 

 

 

 

9. soruda, verilen İngilizce cümleye anlamca 
en yakın Türkçe cümleyi bulunuz. 

9. In the US, as in most developed and many 
developing countries, obesity has become much 
more common in the past 15 years. 

A) ABD gibi birçok gelişmiş ülkede ve gelişmekte 
olan ülkelerde, aşırı şişmanlık son 15 yılda yay-
gınlaşmıştır. 

B) Birçok gelişmiş ve gelişmekte olan ülkede olduğu 
gibi, ABD’de aşırı şişmanlık son 15 yıl içinde çok 
daha yaygın hâle gelmiştir. 

C) Aşırı şişmanlık, son 15 yılda ABD’de olduğu 
kadar, birçok gelişmiş ve gelişmekte olan ülkede 
de çok yaygın hâle gelmiştir. 

D) Aşırı şişmanlığın yaygınlaşması hem ABD’de 
hem de birçok gelişmiş ve gelişmekte olan ülke-
de son 15 yılda olmuştur. 

E) Aşırı şişmanlık ABD’de son 15 yılda birçok geliş-
miş ve gelişmekte olan ülkeden çok daha yaygın 
hâle gelmiştir. 

 

 

 

10. soruda, verilen Türkçe cümleye anlamca 
en yakın İngilizce cümleyi bulunuz. 

10. Çalışmalar gösteriyor ki insanlar ne kadar çok 
protein alırsa idrarlarından o kadar çok kalsiyum 
atılıyor. 

A) According to the study, more people are taking in 
protein to increase the amount of calcium in the 
urine. 

B) Research has shown that people are eating 
more protein and excreting more calcium. 

C) The project is designed to show that there is a 
relationship between the amount of protein eaten 
and the amount of calcium in the urine. 

D) Studies show that the more protein people take 
in, the more calcium is excreted in the urine. 

E) Research shows that a lack of protein in the diet 
leads to the over-excretion of calcium. 

 

 

 

 

11. soruda, boş bırakılan yere, parçanın anlam 
bütünlüğünü sağlamak için getirilebilecek 
cümleyi bulunuz. 

11. The cause of tooth decay in human beings is a 
bacterium that feeds on the sugar in our food.      
---- The acid then dissolves the enamel, the outer 
coating of the teeth, and finally attacks the living 
nerve within. The result is the agonizing pain we 
know as toothache. 

A) So we should brush our teeth after every meal. 

B) It digests the sugar more easily by converting it 
into an acid. 

C) In that case one must follow the advice of a 
reliable dentist. 

D) Sugar is known to have a harmful effect upon 
the teeth. 

E) In most animals, dental decay is a rarely 
encountered problem. 
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12. soruda, cümleler sırasıyla okunduğunda 
parçada anlam bütünlüğünü bozan cümleyi 
bulunuz. 

12. (I) According to recent data, doctors sometimes 
misdiagnose migraines as “sinus headaches”.         
(II) Migraines are an inherited form of recurring 
headaches. (III) This confusion in diagnosis occurs 
because neurons in the brain stem can activate the 
sinuses during a migraine, causing them to secrete a 
clear fluid. (IV) Yet this discharge differs from the 
cloudy fluid produced by a sinus infection.               
(V) Therefore, it is advisable for doctors to consider 
migraines more seriously and to look for clear nasal 
secretions as symptoms. 

A) I B) II C) III D) IV E) V 

 

 

 

 

 

13. soruda, karşılıklı konuşmanın boş bırakı-
lan kısmını tamamlayabilecek ifadeyi bulunuz. 

13. John: 
- I read today about a new type of stent used to 

widen a patient’s artery. 
 
Jane: 
- ---- 
 
John: 
- It releases a drug into the artery over several 

weeks which prevents excess build-up of 
fibrous tissue, reducing the further narrowing of 
the artery. 

 
Jane: 
- That sounds like a promising development. 

A) I think many doctors are too quick to insert 
stents. They should first try medication to reduce 
clogging in the patient’s arteries. 

B) How does it differ from other stents? 

C) Doctors say that coronary stents have 
revolutionized patient care. 

D) Patients with clogged coronary arteries always 
used to undergo bypass surgery. 

E) Have you ever recommended this procedure? 

 

14. – 16. soruları aşağıdaki parçaya göre 
cevaplayınız. 

Chronic psychological stress depends much more on 
the person than on what happens to him. Someone 
promoted above his abilities will probably be under 
constant stress – but some personalities may not be 
aware of the pressure, or of not being up to the job. On 
the other hand, someone in a position well within his 
abilities may carry it out with constant drive and 
tension. Perhaps it is because he does not realize he 
can do it easily; or because he wants to win promotion; 
or simply because that is his way of going about things. 

 

 

14. The main argument of the passage is that ----. 

A) stress is more related to personality than to the 
external conditions 

B) stress results from difficult environmental 
conditions 

C) some people work better under stress 

D) people of high ability cope better with stress 

E) chronic stress may lead to serious disorders 

 

15. Some people ----. 

A) misunderstand the term “stress” 

B) are afraid of being promoted 

C) work well when they are promoted  

D) do not notice how much pressure they are under 
in their work 

E) take on any work they happen to find 

 

16. A person often experiences tension in his work    
----. 

A) because he deserves promotion 

B) until he has been properly trained 

C) if he is particularly easy-going 

D) if there isn’t adequate competition 

E) when he underestimates his capabilities 
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CEVAPLAR: 

1. E  9. B 

2. A  10. D 

3. E  11. B 

4. C  12. B 

5. C  13. B 

6. A  14. A 

7. E  15. D 

8. A  16. E 

 


